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QUESTION 1

A MPLS packet contains the TTL field. On a network shown in the following figure, what are the TTL values in the MPLS
packet and IP packet sent from SWB to SWC?
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Correct Answer: B

QUESTION 2

Which of the following is not the limitation of traditional networks?

A. The network protocol implementation is complex, and the OandM is difficult.
B. The traffic path cannot be adjusted filexibly.

C. The upgrade of new network services is slow.

D. Different vendors\\' devices provide similar implementation, there is less difference in operation commands, and
operations are easy.

Correct Answer: D

QUESTION 3
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NAT technology can only translate network layer information (IP address) in data packets.
A. TRUE
B. FALSE

Correct Answer: B

QUESTION 4

What are the prerequisites for eSight to receive and manage alarms reported by devices? (Multiple Choice)
A. The devices are managed by eSight.

B. Trap parameters have been correctly configured on the devices.

C. The SNMP protocol and parameters are correctly configured for managed devices on eSight.

D. There are reachable routes between eSight and devices.

Correct Answer. ABCD

QUESTION 5

The jitter occurs because the E2E delays of data packets in the same flow are different.
A. TRUE

B. FALSE

Correct Answer: A
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